B WISDOM

INDUSTRIES, Ltd.

SAFETY BULLETIN

DATE: OCTOBER 18, 2004
RIDE: SIZZ1LER AND DELUXE SIZZLER ONLY
SUBJECT: SIZZ1L.ER SEAT FRAME AND FOOT TUB

ATTACHMENT INSPECTION

TIME: IMMEDIATE
FREQUENCY:ANNUAL

* WARNING: FAILURE TO PERFORM THIS

THE

INSPECTION CAN RESULT IN SERIOUS INJURY TO
YOUR PASSENGERS.

KEY INSPECTION POINTS OF THIS BULLETIN

. Inspect, grade & torque of the 4 internal frame bolts.
. Inspect foottub hinge bolts for proper grade and all metal locknut

installed.

. Inspect internal frame welds.

INSPECTION PROCEDURE TO BE FOLLOWED IS ON
ATTACHED PAGES AND DRAWING.

NOTE: If replacement bolts are needed contact Wisdom
Industries for replacement. If the bolts are purchased locally
verify grade 5 bolts by the head marking (See drawing). Many
hardware stores only sell grade 2 or 3 bolts. These bolts are
unacceptable and dangerous.

INSPECTION OF THE SIZZLER RIGHT SIDE (SEAT LOCK

SIDE) SEAT INTERNAL FRAME MOUNTING BOLTS.

I.

2.
3.

Remove the two Y4 inch bolts holding the seat lock brass to the side of
the car.

Slide out the side quarter panel.

Inspect the two internal frame mounting bolts for proper Grade 5.




4. Replace if they are loose or broken and use Red Loctite.

5. Inspect bolts for proper 7/16 inch diameter. Check proper head size
using a 5/8 inch socket.

6. Check that torque of 7/16 inch bolt is 60 foot pounds .

» NOTE: IF BOLT IS LOOSE REMOVE THE BOLT CLEAN
THREADS WITH WIRE BRUSH AND APPLY RED
LOCKTITE. TORQUE BOLT TO 60 FOOT POUNDS.

7. Verify that the foottub hinge nut is a 5/8 inch all metal lock nut.

o Warning NEVER reuse locknuts
o Only use all metal locknuts on the hinge bolts.
o Inspect hinge pipe welds for cracks.

FOR INSPECTION OF THE LEFT SIDE (SPINDLE SIDE)
SEAT IRON BOLTS.

o IF THE INSPECTION HOLE IS NOT INSTALLED

1. Remove seat liner to perform annual inspection.

2. Cut a hole in the left side of the car body using a hole saw. Review the
enclosed drawing for the location of the hole. Use a 5 inch diameter
hole saw.

. Inspect the two internal frame mounting bolts for proper Grade 5.

Replace if they are loose or broken and use Red Loctite.

. Inspect bolts for proper 7/16 inch diameter. Proper head size of a 7/16
inch bolt uses a 5/8 inch socket.

6. Check that torque of 7/16 inch bolt is 60 foot pounds.

» NOTE: IF BOLT IS LOOSE REMOVE THE BOLT CLEAN
THREADS WITH WIRE BRUSH AND APPLY RED
LOCKTITE. TORQUE TO 60 FOOT POUNDS.

6. Verify that the foottub hinge nut is a 5/8 inch all metal lock nut.

o Warning NEVER reuse locknuts
o Only use all metal locknuts on the hinge bolts.
o Inspect hinge pipe welds for cracks.

REASSEMBLY

Reassemble fiberglass quarter panel and seat lock brass
Perform lapbar inspection procedure on following page.




SIZZ1LER
LAP BAR & SEAT LOCK INSPECTION PROCEDURE

Raise lap bar and latch.

Check lap bar hinge bolts and pipe for wear or looseness.

Check lap bar arm for cracks.

Check that seat lock brass is tight.

Open lap bar.

Push seat lock pin. It must snap back out and not drag or catch.
Close lap bar. Seat lock pin must snap into the notch in the brass.
3/8 inch minimum engagement of pin in brass.

» NOTE: ELECTRIC SEAT UNLOCKING IS NOT
MANDATORY.

Nk Lbh =

8. Activate electric unlocking system.
NOTE: All seat locks should release.
0. Turn off electric unlocking system.
NOTE: The timer will shut off the solenoids after about 15 seconds.
10.  Go around seat to inside (spindle side) and pull on the lap bar
sideways and out to try to pop seat lock pin out of the brass.
11. If bar comes open, tie off that car until repairs are made. Replace any
components needed if the bar will come open.
12.  Repeat for each seat.

**WARNING**

Never install a bolt or knob to manually unlock the lapbar.
Passengers have been known to open the bar while the ride is running and
come out of the seat.

**NOTE**
Each seat lock pin is custom drilled for each car and lap bar. Make
sure the same pin goes back to the same bar on the same car.

INSPECT CLEARANCE OF FOOTTUB TO SWEEP AND TRAILER
GOOSENECK.

SEE ATTACHED BULLETIN.

Please notify Wisdom Industries following this inspection and notify us to
the status of the bolts on your ride. If you have any questions, please contact
Wisdom Industries at 800-634-6097.




615 10

HIGHIN_DHMvE0

&F1271S

LNINZIND3

LV3S 40 NOLINSLSNOD 3FaISNI

NOUdIHIS30

NTILIVd 1708

< OMABSEISIO\MO-ZHS\ T > S5TISE — FOOZ 90 100

a3sh3 oy 2 A7 L [ 86/10/%0  ww STIZZ1S X130 0 MIA SONHYYA & 30v9 504 Qvan xo3) | HI 12215 40 MIA
EEETETE ST N TS SaNNO 1004 08 0L 3001
L 7 veovoas| L8/6 §1 325 avIH
FwL08 00 ‘oulsW  SIIYISNANI S1708 ¢ 3qve0 &4
..... “WOOSIM } R
=3 =] =1
I S R ¥ i S
{ 370 / 3T P (= 7 |
{4 | i
5 , -
(@ au) |
— AV Lnnoom i
‘035N 38 LSO LOINYI0T 1108 G 3avy9 4 i
SANNOJ 1005 S2° 01 3N0H0L — /_\.' ] —
JFFE SI3ZIS aYIH - L 1 |
517068 G 30vE9 ¢, ] ! Iy
|| omens e x 2 i b X £
2 oy g [
- P ] f
! %] / .ﬁ_ml_ L 177 \‘
\~J \ \ \ — |

. Rﬁwﬁﬁm ¥ TWldil) S1708 € 3ava9 8,0

1¥3S 40 SONI Hiod No
SOVIMHL NO ZUUNI0T ONY

mmmrm%xuou&%ﬁﬂ%qﬁd&tqﬁ
OLNI GIAYIYHL)SLTO8 ¢ Favyo @, 9 1/

T13HS 8L 1004

) -

al . x do .,z

SIHSYM NIV TS

SHOVED 04 3A3FIS NO 0TIM MITHD
1534 L004 QIOH 01 SL708 ¢,.% HO4 3AFITS

TIFHS SSY 1943814 1\ W

HI0T H¥E AL3IVS YOS INNOW QIONTT0S ~




gl e X JdO 7
HIHSYM NIV IS

51708 FaNIH HI08 NO
J3YINOIS LN HD0T TViFW

dve FTANVH

( s3a1s Hiog)
FTOH NOLIFLSNI

AVIS H0 SONI HLOG NO
SOVIHHI NO JLNUMO0T ONV
SYIHSYMMIOT HLIM (STONVTS TINNVHD
QLN IAVIHHL)SLI08 ¢ 3avyo @, 9

TIFHS gnt 1004

SHMOVHD Y04 FAFITIS NO TT1IM MOIHD
[S34 1004 QI0H 0L S1708 2,8¢ 404 3A3F315— 1

&g FIONVH

T1IHS SSVI9436I4 \

AI0T YVE ALIFVS HOA INAOW DIONTIOS

DESCRIPTION

EQUIPMENT:

ﬂ._J_..ﬁ.
i
2 0
Z M
21 =
o
=
=T
e
Q
T
vr.M

[y [+ 4

W_ [}

T

o

<

7

(@]

o

o

Q

4 W
9 S
.mU
51O
= =
Q
nl =
O
=
D.H.LF

SEl o

onl = &

AO>D | 4

SDAH

-IIEI-!F

=< vl 6

«



- ey < UVIS\aHa-zZIS\ 4 > 810091 — ¥66) 'SZ Ony
INES {ATZZIS

HIBANH OHMYHO HHNIMJIND3
SNOUYIOT FTOH NOIHIIFASNI L VIS
NOIL D530
a3swn3y ¥6—G7¢—80 aLva
v_t)_ 8 v AH Q3AOHddY W. —-Z IS
lv£08 00 ‘oultep SAIMLSNANI
WOQSIm [

NOUVIOT YAUNAD MUV OL
AVHS JO YINMOD MIVA WOM4 TIATT FSN &

YAUVNHL TINIT 4 TLON
(H41S30 S FTOH NOLLOAASNI FAIS LHOI Al

LVIS 40 FdIS LHIOIH LVAS 40 FdIS 14317

\l Ao 1110 d33IMS

7
|

f L '

»

-,



S ONRISIT HIHVL

dILS NO SHT 00Z Him

dIINS INV HIINISO0
Of IINVHVTI
T A0 WONINIY

.

Pl L8688 92 Avw

PGB /2T/8

I WOdsIm

N

(I
gt



JTSDOM IND

N WISDOM

N INDUSTRIES, Ltd.

SIZZLLER BULLETIN A
DATE: MAY 1997

SUBJECT: Inspect the pivot hole on each side of each foot
tub on the SIZZLER/DELUXE SIZZLER for
corrosion and excessive wear

COMPLIANCE: Inspection Daily before operating ride,

FREQUENCY: DAILY

INSPECTION

1. Inspect the pivot hole on the foot tub for excessive wear. Approximately 1/8th
inch maximum play on foot tub next to hinge.

2, Inspect the fiberglass in the hinge area for cracks or fracturing which would
indicate the internal steel is broken or worn to the point of relying on the
fiberglass for strength. (Hole should be centered on boss on side of fiberglass
foot tub).

3. Check clearance of the foot tub to the gooseneck, Minimum 2 inch clearance with
& person standing on the step of the foot tub. Measure to the corner of the
gooseneck.

4. If foot tub noticeably slopes down, perform inspection before allowing passengers
in the seat. Close any seat that does not meet this inspection criteria.

Replacement of the foct tub or foot tub internal steel is required for repair,
**WARNING**

Failure of the foot tub hinge point will result in injury to your passengers,

Contact Wisdom Industries with any discrépancies on the foot tubs that vou find which
will require replacement or reinforcement of the foot tub hinge.

If you no longer own this ride, please contact us so we can update our records. Thank
you for your cooperation in this matter. If you have any questions about this bulletin,
please feel free to contact us at 1-800-634-6097 or 1-970-522-7515.




/12/2884 WISDOM IND

WISDOM
INDUSTRIES, Ltd.

SIZZLER SEAT INSPECTION COMPLIANCE NOTICE

81ZZLER SERIAL NUMBER

DATE INSPECTED

OWNER COMPANY NAME
OWNER ADDRESS

NUMEBER OF SEAT FRAME BOLTS LOQSE

NUMBER OF SEAT FRAME BOLTS BROKEN

NUMBER OF SEAT FRAME BOLTS MISSING

We no longer own this ride

The Sizzler was sold to
Address

INSPECTED BY (Print name)

SIGNATURE

Return to: Wisdom Indusirics
Box 5000
Sterling, CO. 80751

P. 0. Box 5000 — Sterling, Colorado 80751 — 970-522-7515 -— Fax 970-522-1902





